14. Redox reactions of iodine compounds

Topic: Elements of group 17 (chlorine, bromine, iodine) and their compounds

Equipment: 10 beakers (150ml), glass rods, 2 beakers (300ml), measuring cylinders (100ml)
Chemicals: Na2SO3, starch, NaIO3 or KIO3, H2SO4 (w=10%)
Procedure: Dissolve 0,5 g of starch in 125 ml of water in a 300 ml beaker, boil and leave to cool. Then add 0,05 g of sodium sulfite and 1 - 2 ml of sulphuric acid and add water to make up the solution to 250 ml. This is solution A. Dissolve 0,5 g of potassium iodate in the other beaker - that will be solution B. Prepare two sets of 5 beakers numbered 1 to 5. Put 50 ml, 45 ml, 39 ml, 34 ml and 29 ml of solution A into the first set of beakers and make up all the solutions to 50 ml. Do the same with solution B and the second set of beakers. At the same time, mix together all five couples of beakers with solutions A and B, pairing beakers with the same numbers together. Observe the reaction.
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